
✓
still assuming
IG) p. b. a. l.

Now
,
let's consider further relationships b/w

Els)
.
Ils)

,
and Ils)

.

I Recall : {Els) ,561.5613 an
orthonormal frame .

Consider b- ' Cs) :

since I b-Cs) I I 1
,
we have

b- (s) - b- Cs) = 1 for all s

so

Thus : ①

Also : b- (s ) . Its) = O for all S
,
so

Thus : ②

o

O -
- das (Ics) -Ils)) = 25 Is) -I ' Cs) .

b- ' Cs) lists)

O

o -- das ( b- Css - Els) ) =
'

b' Cs) - Ils) t b¥ht÷f÷
, es,

I ' Cs) Itis)



① and ② ⇒

so I ' Cs) = for some function Tls).

Defy The function Tls) is called the torsion of I at s .
IT G) I = 15 ' Cs) I = measurement of

" lifting " .

Note : For a plane curve 261 ,

EI : Torscoin of a helix is constant .

b-
'

Cs) Il ri Is)
.

" tan
"

t
Tls) 5k)
E Els) a scalyr function of S.

Us) = 0 for all s .



Thy (Servet - trenet formulae )

B/w Kcs)
,
Tls)

,
Els)

,
hits)

,
and b- (s) , we have

the following relations :

f- ' Cs) = Rls) n' (s) ④

I ' Cs) = - Kcs) tls) - Tls) Els) ④

I ' Cs) = Tls) Ils) ④

proof : ④ ,
⑥ done

.

⑤ Tls) =
-

t
so I

'
Cs) = f

-

I
b ha

Ics) x Ils)

I ' Cs) x Ils) t b- Cs) x I' Cs)
- -

Tls) hits) Rls) hits)

= - Tls) Ils) - Kostis)


